id:6 level: O
16: C1 C2 C3 C4 Ch
Co C7C8C9C10C11
Cl12 C13C14 C15 C17
90:C1 = C2(C1C2)C1 =C3(C1C3)C1 =cC4(cCc1c4)C1 =¢Co6(C1Co)C1 =C7(€C1C7)
Cl = C9(C1C9)C1 =C10(C1C10)C1I = C12(C1C12)C1 = C13(C1C13)C1 =_C14( C1Cl14)C1 = C17(C1C17)
C2 = C3(C2C3)C2 =C4(C2C4)C2 =C5(C2ChH) C = C7(C2C7)C2 =(C8(C2C8)C2 = C10(C2C10)
C2 = C11(C2C11)C2 = C14(C2C14)C2 = C15(C2C15) 2 =C17(C2C17)C3 = C5(C3C5)C3 =C6(C3C6)
C3 = C8(C3C8)C3 =CHY(C3C9)C3 =C11(C3C11)C3 =C1I2(C3C12)C3 = C13(C3C13)C3 = C15(C3C15)
3 =C1l7(C3C17)C4 = C5(C4C5)C4 = Co(C4C6 ) 4 =C8(C4C8)C4 =C9(C4C9)C4 = C11(C4C11)
C4 = Cl12(C4C12)C4 = C13(C4Cl13)C4 = C15(C4C15)C4 = C17(C4C17)C5 =C6(C5C6)C5 = C7(C5C7)
C5 = C9(C5C9)C5 =C10(C5C10)C5 = C12(C5C12)C5 = C13(C5C13)Ch = C14(cC5C14)C5 = C17(¢CcvC17)
Co = C7(C6C7)C6 = C8(C6C8)Cb = C10(C6C10)C6 = C11(C6C11)CO = C14(C6C14)C6 = C15(CO0 C15)
C6 = C17(C6C17)C7 = C8(C7C8)C7 = C9(C7C9) C7_=_C11( C7C11)C7 = C12(C7C12)C7 = C13(C7C13)
C7 = C15(C7C15)C7 = C17(C7C17)C8 = C9(C8C9)C8 = C10(C8C10)C8 = C12(C8C12)C8 = (C13(C8C13)
C8 = C14(C8C14)C8 = C17(C8C17)C9 = C10(C9C10)C9 = C11(C9C11)C9 = C14(C9C14)C9 = C15(C9C15)
C9 = C17(C9C17)C10 = C11(C10C11)C10 = C12(C10C12) C10_=_C13( C10C13)C10 = C15(C10C15)C10 = C17(C10C17)
Cl1 = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C17(C11C17)C12 = C14(C12C14)C12 = C15(C12C15)
Cl12 = C17(C12C17)C13 = C14(C13C14)C13 = C15(C13C15)C13 = C17(C13C17)Cl14 = C15(C14C15)C14 = C17(C14 C17)
Cl15 = C17(C15C17)
15:C1 C2 C3C4 C5 15:C1 C2 C3C4 C5
C6 C7C8C9C10C11 Co6 C7C8C9C10C11
C12 C13 C14 C15 C12 C13 C14 C15
75:C1 =C2,C1 =C3,C1 =C4,C1 =Co6,C1 =C7, 75:C1 =C2,C1 =C3,C1 =(C4,C1 =Co6,C1 =C7,
Cl = C9 ,C1_=_C10 Cl = C12 ,C1 = C13 ,Cl = C14 ,C2 = C3, Cl =(C9,C1 =C10,C1 = C12 ,C1 = C13,C1 = (C14 ,C2 = C3,
C2 = C4,C2 =C5,C2 =C7 C2 = C8 C2 = C10,C2 = C11, C2 =C4,C2 = C5 ,C2_= “C7 C2 = C8,C2 = C10,C2 = C11,
C2 = Cl14,C2 = C15,C3 = _C5 C3 = C6 C3 = C8,C3 = C9, C2 = C14,C2 = C15,C3 = _C5 C3 = C6 ,C3 = C8,C3 = (C9,
C3 =C11,C3 = C12,C3 = C13 ,C3_=_C15 ,C4 = C5,C4 = C6, C3 =C11,C3 = C12,C3 = C13 ,C3 = C15,C4 = C5,C4 = C6,
C4 =C8,C4=C0C9,C4=2C11,C4 =C12,C4 =C13,C4 = Cl15, C4 =C8,C4 =C9,C4 =C11,C4 =C12,C4 = C13,C4 = C15,
cs=¢C6,C5 =C7,C5 =(C9,C5 =C10,C5 =C12,C5 = C13, C5 =C6,C5 =C7,C5 =(C9,C5 =Cl10 C5 = (C12,C5 = C13,
C5 =C14,C6 = C7,C6 = C8,C6 = C10,C6 = C11,Co6 = C14, C5 = C14 ,C6 = C7,C6 = C8,Co = C10,C6 = C11,Co = C14,
C6 = C15,C7 =(C8,C7 =(C9,C7 = C11,C7 = C12,C7 = C13, C6 = C15,C7 =(C8,C7 =(C9,C7 =C11,C7 = C12,C7 = C13,
C7 = C15,C8 = (C9,C8 = C10,C8 = C12,C8 = C13,C8 = C14, C7 = C15,C8 = C9,C8 = C10,C8 = C12,C8 = C13,C8 = C14,
Cc9 = C10,C9 = C11 ,C9 = C14,C9 = C15,C10 = C11 ,C10 = C12, Cc9 = C10,C9 = C11 ,C9 = C14,C9 = C15,C10 = C11 ,C10 = C12,
C10 = C13,C10 = C15,C11 = C12,C11 = C13 ,C11 = C14 ,C12 = C14, Cl10 = C13,C10 = C15,C11 = C12,C11 = C13 ,C11 = C14 ,C12 = C14,
Cl12 = C15,C13 = C14,C13 = C15,C14 = C15, Cl2 = C15,C13 = C14,C13 = C15,C14 = C15,
id:7 level: 1 id:8 level: 1
16: C1 C2 C3 C4 C5 16: C1 C2 C3 C4 C5
Co6 C7C8C9C10C11 Co6 C7C8C9C10C11
Cl12 C13C14 C15C18 C12 C13 C14 C15 C1e6
90:C1 = C2(C1C2)C1 =C3(C1C3)C1 =cC4(Cc1c4)c1 =co6(C1Co)C1 =cCc7(c1c7) 90:C1 = C2(C1C2)C1 =C3(C1C3)C1 =cC4(cCc1c4)c1 =¢c6(C1Co)C1 =cCc7(c1c7)
Cl = C9(C1C9)C1 =C10(C1C10)Cl1 = C12(C1C12)C1 = C13(C1C13)C1 =C14(C1C14)C1 = C18(C1C18) Cl = C9(C1C9)C1 =C10(C1C10)C1 = C12(C1C12)C1 = C13(C1C13)C1 =C14(C1C14)C1 = C16(C1C16)
- C2 =C3(C2C3)C2 =C4(C2C4)C2 =C5(C2ChH) C2_ "C7(C2C7)C2 =C8(C2C8)C2 = C10(C2C10) - C2 =C3(C2C3)C2 =C4(C2C4)C2 =CH(C2C5)C2 =C7(C2C7)C2 =C8(C2C8)C2 =C10(C2C10)
C2 = Cl11(C2C11)C2 = C14(C2C14)C2 = C15(C2C15)C2 = C18(C2C18)C3 = C5(C3C5)C3 = C6(C3Ch6) C2 = Cl11(C2C11)C2 = C14(C2C14)C2 = C15(C2C15)C2 = C16(C2C16)C3 = C5(C3C5)C3 = C6(C3C6)
C3 = C8(C3C8)C3 =CH(C3C9)C3 =C11(C3C11)C3 =CI2(C3C12)C3 = C13(C3C13)C3 = C15(C3C15) C3 = C8(C3C8)C3 =CH(C3C9)C3 =_C11(C3 Cl11)C3 = C12(C3C12)C3 = C13(C3C13)C3 = C15(C3C15)
3 =C18(C3C18)C4 =C5(C4C5)C4 =Cob(C4Co )C = C8(C4C8)C4 =C9(C4C9)C4 = C11(C4C11) 3 =Cl6(C3Cl16)C4 = C5(C4C5)C4 = Co(C4C6 )C = C8(C4C8)C4 =C9(C4C9)C4 = C11(C4C11)
C4 = Cl12(C4C12)C4 = C13(C4C13 ) C4 =_ C15(C4C15)C4 = C18(C4C18)C5 = Cob(C5C6)C5 =C7(C5C7) C4 = C12(C4C12)C4 = C13(C4C13 ) C4 = C15(C4C15)C4 = C16(C4 Cl16 ) C5 = C6(C5C6)C5 =C7(C5C7)
C5 = C9(C5C9)C5 = Cl10(C5C10 ) 5 =C12(C5C12)C5 = C13(C5C13)C5 = C14(C5C14)C5 = C18(C5C18) C5 = C9(C5C9)C5 =Cl10(C5C10)C5 = C12(C5C12)C5 = C13(C5C13)Ch5 = C14(C5C14)C5 = C16(C5C16)
Co = C7(C6C7)Cb6 = C8(C6C8)Cb6 = C10(C6C10)C6 = C11(C6C11)CO = C14(C6C14)CO = C15(COC15) Co = C7(C6C7)Cb6 = C8(C6C8)Cb6 = C10(C6C10)CO6 = C11(C6C11)CO = C14(C6C14)C6 = C15(CO C15)
C6 = C18(C6C18)C7 = C8(C7C8 ) C7 = C9(C7C9)C7 = C11(C7C11)C7 = C12(C7C12)C7 = C13(C7C13) C6 = C16(C6C16)C7 = C8(C7C8)C7 = C9(C7C9)C7 = Cl11(C7C11)C7 = Cl12(C7C12)C7 = C13(C7C13)
C7 = C15(C7C15)C7 = C18(C7C18)C8 = C9(C8C9)C8 = C10(C8C10)C8 = C12(C8C12)C8 = C13(C8C13) C7 = C15(C7C15)C7 = C16(C7Cl16)C8 = C9(C8C9)C8 = C10(C8C10)C8 = C12(C8C12)C8 = C13(C8C13)
C8 = C14(C8C14)C8 = C18(C8C18)C9 = C10(C9C10)C9 = C11(C9C11)C9 = C14(C9C14)C9 = C15(C9C15) C8 = C14(C8C14)C8 = C16(C8C16)C9 = C10(C9C10)C9 = C11(C9C11)C9 = C14(C9C14)C9 = C15(C9C15)

C9 = C18(C9C18)C10 = C11(C10C11)C1 O_=_C 2(C10C12)C10 = C13(C10C13)C10 = C15(C10C15)C10 = C18(C10C18) C9 = C16(C9C16)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C13(C10C13)C10 = C15(C10C15)C10 = C16(C10C16)
Cll = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C18(C11C18)C12 = C14(C12C14)C12 = C15(C12C15) Cll = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = Cl6(C11Cl1lb6)C12 = C14(C12C14)C12 = C15(C12C15)
Cl12 = C18(C12C18)C13 = C14(C13C14)C13 = C15(C13C15)C13 = C18(C13C18)C14 = C15(C14C15)C14 = C18(C14 C18) Cl2 = C16(C12C16)C13 = C14(C13C14)C13 = C15(C13C15)C13 = C16(C13Cl16)Cl14 = C15(C14C15)Cl14 = Cl16(C14 C16)

Cl15 = C18(C15C18) C15 = C16(C15 C16)
15:C1 C2 C3C4 ChH 15:C1 C2 C3C4 ChH
Co C7C8C9C10C11 C6 C7C8C9C10C11
Cl12 C13 C14 C15 C12 C13 C14 C15
75:C1 =C2,C1 =C3,C1 =C4,C1 =Co6,C1 =2C7, 75:C1 =C2,C1 =C3,C1 =C4,C1 =Co6,C1 =C7,
Cl =C9,C1 =C10,C1 = C12 ,C1 = C13 ,C1 = C14 ,C2 = C3, Cl =C9,C1 =C10,C1 = C12 ,C1 = C13 ,Cl = C14 ,C2 = C3
C2 =C4,C2 = C5 ,C2 C7 C2 = C8 C2 = C10,C2 = C11, C2 =C4,C2 =C5 ,C2 C7 C2 = C8 C2 C10,C2 = C11,
C2 = Cl14,C2 = C15,C3 = C5 ,C3 = C6 ,C3 = C8,C3 = (C9, C2 = Cl14,C2 = C15,C3 = C5 ,C3 = C6 ,C3 = C8,C3 = (9,
C3 =C11,C3 = C12,C3 = C13,C3 = C15 ,C4 = C5,C4 = C6, c3 =C11,C3 =C12,C3 =C13,C3 =C15,C4 = C5,C4 = C6
C4 = C8,C4 = C9,C4 = C11 C4 = C12, C4 = C13,C4 = C15, C4 = C8,C4 = C9,C4 = C11 C4 = C12 C4_=_C13 ,C4 = C15
Cb =C6,C5 =C7,C5 =(C9 C5 _C10 C5 = C12,C5 = C13, C =C6,C5 =C7,C5 =(C9 C5 ~C10,C5 = C12,C5 = C13,
C5 =C14,C6 = C7,C6 = C8,C6 = C10,C6 = C11,C6 = Cl14, C5 =C14,C6 = C7,C6 = C8,C6 = C10,C6 = C11,C6 = Cl14,
c6 = C15,C7 =C8,C7 =C9,C7 =Cl11,C7 = C12,C7 = C13, c6 = C15,C7 =C8,C7 =C9,C7 =C11,C7 = C12,C7 = C13,
C7 = C15, C8 = (C9,C8 = C10,C8 = C12,C8 = C13,C8 = C14, C7 = C15 C8 = C9 C8 ~=C10,C8 = C12,C8 = C13,C8 = C14
C9 = C10, C9 = C11 C9 = Cl4 C9_= C15 ClO = C11,C10 = C12, C9 = C10 C9 = C11 C9 = Cl4 C9_= C15 ClO = C11,C10 = C
C10 = C13,C10 = C15,C11 = C12,Cl11 = C13 ,C11 = C14 ,C12 = C14, C10 = C13 C10 = C15,C11 = C12,C11 = C13 ,C11 = C14 ,C12 =
Cl2 = C15,C13 = C14,C13 = C15,C14 = C15, Cl2 = C15,C13 = C14,C13 = C15,Cl14 = C15,
4 4
id:9 level: 2 id:10 level: 2
16: C1 C2 C3 C4 Ch5 16:CO0C1 C2C3C4
Co C7C8C9C10C11 C5C6C7C8C9cC10
C12 C13 C14 C15 C19 Cl11 C12 C13 C14 C15
90: C1 = C2(C1C2)C1 =C3(C1C3)C1 =C4(C1C4)C1 =CcCp6(C1Co)C1 =C7(C1C7) 90: CO = C1(CO0C1)CO =C2(C0C2)C0O =C3(C0oC3)C0O =cCc4(coc4a)co =ch(coch)
Cl = C9(C1C9)C1I =C10(C1C10)Cl1 = C12(C1C12)C1 = C13(C1C13)C1 =C14(C1C14)C1 = C19(C1C19) CO = C6(C0C6)CO =C7(C0OC7)C0O =C8(COC8)CO =C9(C0C9)CO = C10(COC10)CO = C11(COC11)
C2 = C3(C2C3)C2 =C4(C2C4)C2 =ChHh(C2C5)C2 =C7(C2C7)C2 =CB(C2C8)C2 =C10(C2C10) CO = C12(C0C12)C0O0 = C13(C0O0C13)C0 = C14(cCc0cC14)C0Oo0 = C15(C0C15)C1 = cCc2(Cc1C2)cC1 = cCc3(Cc1c3)
C2 = Cl11(C2C11)C2 = C14(C2C14)C2 = C15(C2C15) 2_=_C19( C2C19)C3 = C5(C3C5)C3 = C6(C3C6) Cl =C4(C1C4)C1 =C6(C1C6)C1 =C7(C1C7)C1 =C(C9(C1C9)C1 =C10(cCc1C10)C1 =cC12(C1C12)
C3 =C8(C3C8)C3 =C9(C3C9)C3 =C11(C3C11)C3 =C12(C3C12)C3 =C13(C3C13)C3 =C15(C3CC15) Cl = C13(C1C13)C1 =C14(C1C14)C2 = C3(C2C3)C2 =c4(c2c4)Cc2 =cCc5(€Cc2CcH)cz2 =cCcr(ecz2cecr)
3 =C19(C3Cl19)C4 =C5(C4C5)C4 =C6(C4C6)C4 =CB(C4C8)C4 =C9(C4C9)C4 = C11(C4C11) C2 = C8(C2C8)C2 =C10(C2C10)C2 = Cl11(C2C11)C2 = C14(C2C14)C2 = C15(C2C15)C3 = (C5(C3ChH)
C4 = C12(C4C12)C4 = C13(C4C13)C4 = C15(C4C15)C4 = C19(C4C19)C5 = C6(C5CB6)C5 = C7(C5C7) C3 =C6(C3C6)C3 =C8(C3C8)C3 =CY9(C3C9)C3 =C11(C3C11)C3 =~ C12(€C3C12)C3 = cC13(C3C13)
C5 = C9(C5C9)C5 = Cl10(C5C10 ) 5 =C12(C5C12)C5 = C13(C5C13)C5 = C14(C5C14)C5 = C19(C5C19) C3 = C15(C3C15)C4 = C5(C4C5)C4 =C6(C4Ch)C4 =C8(C4C8)C4 =0(C9(C4C9)C4 =cC11(C4cC11)
C6 = C7(C6C7)Cb = (C8(C6C8)Cb6 = C10(C6C10)COH =C11(CO6C11)C6 = C14(C6C14)CO = C15(Co0C15) C4 = C12(C4C12)C4 = C13(C4C13)C4 = C15(C4C15)C5 = Co(C5CB)C5 =C7(C5C7)C5 =C9(C5C9)
C6 = C19(C6C19)C7 = C8(C7C8 ) C7 = C9(C7C9)C7 = C11(C7C11)C7 = C12(C7C12)C7 = C13(C7C13) C5 = C10(C5C10)C5 = C12(C5C12)C5 = C13(C5C13)C5 = C14(C5C14)Cb6 = C7(C6C7)Cb = C8(C6C8)
C7 = C15(C7C15)C7 = C19(C7C19)C8 = C9(C8 C9) C8_=_C10( C8C10)C8 = C12(C8C12)C8 = C13(C8C13) C6 = C10(C6C10)C6 = C11(C6C11)C6 = C14(C6C14)C6 = C15(C6C15)C7 = C8(C7C8)C7 = C9(C7C9)
C8 = C14(C8C14)C8 = C19(C8C19)C9 = C10(C9C10)C9 = C11(C9C11)C9 = C14(C9C14)C9 = C15(C9C15) C7 = C11(C7C11)C7 = C12(C7C12) C7_=_C13( C7C13)C7 = C15(C7C15) C8_=_C9( C8C9)C8 = C10(C8C10)

C9 = C19(C9C19)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C13(C10C13)C10 = C15(C10C15)C10 = C19(C10C19) C8 = C12(C8C12)C8 = C13(C8C13)C8 = (C14(C8C14)C9 = C10(C9C10)C9 = C11(€C9C11)C9 = C14(Cc9cC14)
Cll1 = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C19(C11C19)C12 = C14(C12C14)C12 = C15(C12C15) C9 = C15(C9C15)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C13(C10C13)C10 = C15(C10C15)C11 = C12(C11C12)
C12 = C19(C12C19)C13 = C14(C13C14)C13 = C15(C13C15)C13 = C19(C13C19)C14 = C15(C14C15)C14 = C19(C14 C19) Cll = C13(C11C13)C11 = C14(C11C14)C12 = C14(C12C14)C12 = C15(C12C15)C13 = C14(C13C14 ) C13 = C15(C13C15)

C15 = C19(C15C19) Cl14 = C15(C14 C15)




